

On a Generalization of Martins' Inequality

By

Tsz Ho Chan¹, Peng Gao¹, and Feng Qi²

¹ University of Michigan, Ann Arbor, MI, USA ² Jiaozuo Institute of Technology, Jiaozuo City, China

Received September 18, 2001; in revised form August 14, 2002 Published online February 7, 2003 © Springer-Verlag 2003

Abstract. Let $\{a_i\}_{i=1}^{\infty}$ be an increasing nonconstant sequence of positive real numbers. Under certain conditions on this sequence we prove the following inequality

$$\left(\frac{1}{n}\sum_{i=1}^{n}a_{i}^{r} / \frac{1}{n+m}\sum_{i=1}^{n+m}a_{i}^{r}\right)^{1/r} < \frac{\sqrt[n]{a_{n}!}}{\sqrt[n+m]{a_{n+m}!}},$$

where $n, m \in \mathbb{N}$ and r is a positive number, $a_n!$ denotes $\prod_{i=1}^n a_i$. The upper bound is the best possible. This inequality generalizes the Martins' inequality. A special case of the above inequality solves an open problem by F. Qi in *Generalization of H. Alzer's Inequality*, J. Math. Anal. Appl. **240** (1999), 294–297.

2000 Mathematics Subject Classification: 26D15

Key words: Martins's inequality, Alzer's inequality, König's inequality, logarithmically concave sequence, power mean, geometric mean, ratio

1. Introduction

It is well-known that the following inequality

$$\frac{n}{n+1} < \left(\frac{1}{n} \sum_{i=1}^{n} i^r \middle/ \frac{1}{n+1} \sum_{i=1}^{n+1} i^r \right)^{1/r} < \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}}$$
(1.1)

holds for r > 0 and $n \in \mathbb{N}$. We call the left-hand side of this inequality Alzer's inequality [1], and the right-hand side Martins's inequality [5]. Alzer's inequality has invoked the interest of several mathematicians, we refer the reader to [3, 6, 11, 13] and the references therein. Recently, Qi and Debnath [10] proved: Let $n, m \in \mathbb{N}$ and $\{a_i\}_{i=1}^{\infty}$ be an increasing sequence of positive real numbers satisfying

$$\frac{(k+2)a_{k+2}^r - (k+1)a_{k+1}^r}{(k+1)a_{k+1}^r - ka_k^r} \geqslant \left(\frac{a_{k+2}}{a_{k+1}}\right)^r \tag{1.2}$$

The third author was supported in part by NNSF (#10001016) of China, SF for the Prominent Youth of Henan Province (#0112000200), SF of Henan Innovation Talents at Universities, NSF of Henan Province (#004051800), SF for Pure Research of Natural Science of the Education Department of Henan Province (#1999110004), Doctor Fund of Jiaozuo Institute of Technology, China.

for a given positive real number r and $k \in \mathbb{N}$. Then

$$\frac{a_n}{a_{n+m}} \le \left(\frac{(1/n)\sum_{i=1}^n a_i^r}{(1/(n+m))\sum_{i=1}^{n+m} a_i^r}\right)^{1/r}.$$
 (1.3)

The lower bound of (1.3) is the best possible.

In [9], [12], [14], [15], Qi and others proved the following inequalities:

$$\frac{n+k+1}{n+m+k+1} < \left(\prod_{i=k+1}^{n+k} i\right)^{1/n} / \left(\prod_{i=k+1}^{n+m+k} i\right)^{1/(n+m)} < \sqrt{\frac{n+k}{n+m+k}}, \tag{1.4}$$

where $n, m \in \mathbb{N}$ and k is a nonnegative integer.

In [8, 10], Qi proved: Let n and m be natural numbers, k a nonnegative integer. Then

$$\frac{n+k}{n+m+k} < \left(\frac{1}{n} \sum_{i=k+1}^{n+k} i^r \middle/ \frac{1}{n+m} \sum_{i=k+1}^{n+m+k} i^r \right)^{1/r}, \tag{1.5}$$

where r is any given positive real number. The lower bound is the best possible.

An open problem in [7] and [8] asked for the validity of the following inequality:

$$\left(\frac{1}{n}\sum_{i=k+1}^{n+k}i^r \middle/ \frac{1}{n+m}\sum_{i=K+1}^{n+m+k}i^r\right)^{1/r} < \frac{\sqrt[n]{(n+k)!/k!}}{\sqrt[n+m+k)!/k!},\tag{1.6}$$

where r > 0, $n, m \in \mathbb{N}$, $k \in \mathbb{Z}^+$.

The purpose of this paper is to verify and generalize the above inequality (1.6), that is

Theorem 1. Let $\{a_i\}_{i=1}^{\infty}$ be an increasing nonconstant sequence of positive real numbers satisfying

(1) for any positive integer $\ell > 1$,

$$\frac{a_{\ell}}{a_{\ell+1}} \geqslant \frac{a_{\ell-1}}{a_{\ell}};\tag{1.7}$$

(2) for any positive integer $\ell > 1$,

$$\left(\frac{a_{\ell+1}}{a_{\ell}}\right)^{\ell} \geqslant \left(\frac{a_{\ell}}{a_{\ell-1}}\right)^{\ell-1}.\tag{1.8}$$

Then, for any natural numbers n and m, we have

$$\left(\frac{1}{n}\sum_{i=1}^{n}a_{i}^{r} / \frac{1}{n+m}\sum_{i=1}^{n+m}a_{i}^{r}\right)^{1/r} < \frac{\sqrt[n]{a_{n}!}}{\sqrt[n+m]{a_{n+m}!}},\tag{1.9}$$

where r is a positive number, $n, m \in \mathbb{N}$, and $a_n!$ denotes $\prod_{i=1}^n a_i$. The upper bound is the best possible.

Notice that if a positive sequence $\{a_i\}_{i=1}^{\infty}$ satisfies inequality (1.7), then we call it a logarithmically concave sequence. The proof of Theorem 1 is motivated by [5]. As a corollary of Theorem 1, we have:

Corollary 1. Let a be a positive real number, b a nonnegative real number, k a nonnegative integer, and $m, n \in \mathbb{N}$. Then, for any real number r > 0, we have

$$\left(\frac{1}{n}\sum_{i=k+1}^{n+k}(ai+b)^r / \frac{1}{n+m}\sum_{i=k+1}^{n+m+k}(ai+b)^r\right)^{1/r} < \frac{\sqrt[n]{\prod_{i=k+1}^{n+k}(ai+b)}}{\sqrt[n+m]{\prod_{i=k+1}^{n+m+k}(ai+b)}}.$$
 (1.10)

By letting a = 1 and b = 0 in (1.10), we recover inequality (1.6).

2. Lemmas

To prove our main results, the following lemmas are necessary.

Lemma 1. For any positive integers ℓ and n such that $2 \le \ell \le n$, let $\{a_i\}_{i=1}^{\infty}$ be an increasing nonconstant sequence of positive real numbers satisfying inequality (1.8), then we have

$$\frac{a_{\ell}}{(a_{\ell-1}!)^{1/(\ell-1)}} \leqslant \frac{a_n}{(a_{n-1}!)^{1/(n-1)}}.$$
(2.1)

Proof. It suffices to show

$$\frac{a_n}{(a_{n-1}!)^{1/(n-1)}} \le \frac{a_{n+1}}{(a_n!)^{1/n}}.$$
(2.2)

The above expression is equivalent to

$$\frac{a_{n+1}}{a_n} \geqslant \frac{(a_n!)^{1/n}}{(a_{n-1}!)^{1/(n-1)}},\tag{2.3}$$

which is further equivalent to

$$\left(\frac{a_{n+1}}{a_n}\right)^n \geqslant \frac{a_n}{(a_{n-1}!)^{1/(n-1)}}.$$
(2.4)

Now we prove (2.4) by induction. For n = 2, inequality (2.4) follows from inequality (1.8) directly. Suppose inequality (2.4) holds for n = m. Then

$$\left(\frac{a_{m+1}}{a_m}\right)^m \geqslant \frac{a_m}{\left(a_{m-1}!\right)^{1/(m-1)}}.$$
(2.5)

is equivalent to

$$\left(\frac{a_{m+1}}{a_m}\right)^{m(m-1)} / a_m^m \geqslant \frac{1}{a_m!}. \tag{2.6}$$

By inequality (1.8), we have

$$\left(\frac{a_{m+2}}{a_{m+1}}\right)^{m+1} \geqslant \left(\frac{a_{m+1}}{a_m}\right)^m,$$
(2.7)

which implies

$$\left(\frac{a_{m+2}}{a_{m+1}}\right)^{m(m+1)} \geqslant \left(\frac{a_{m+1}}{a_m}\right)^{m(m-1)} \left(\frac{a_{m+1}}{a_m}\right)^m.$$
 (2.8)

Therefore, from inequality (2.6), we obtain

$$\frac{\left(a_{m+2}/a_{m+1}\right)^{m(m+1)}}{a_{m+1}^{m}} \geqslant \frac{\left(a_{m+1}/a_{m}\right)^{m(m-1)}}{a_{m}^{m}} \geqslant \frac{1}{a_{m}!}.$$
 (2.9)

Dividing by a_{m+1} on both sides of inequality (2.9) yields

$$\frac{\left(a_{m+2}/a_{m+1}\right)^{m(m+1)}}{a_{m+1}^{m+1}} \geqslant \frac{1}{a_{m+1}!},\tag{2.10}$$

that is

$$\left(\frac{a_{m+2}}{a_{m+1}}\right)^{m+1} \geqslant \frac{a_{m+1}}{\left(a_m!\right)^{1/m}},$$
(2.11)

П

П

which completes the induction.

Lemma 2. For any positive integers ℓ and n such that $1 \leq \ell \leq n$, let $\{a_i\}_{i=1}^{\infty}$ be an increasing nonconstant sequence of positive real numbers satisfying inequalities (1.7) and (1.8), then we have

$$\frac{a_{\ell}}{(a_{\ell}!)^{1/\ell}} \le \frac{a_n}{(a_n!)^{1/n}}.$$
(2.12)

Proof. Since $1 \le \ell \le n$, by inequality (1.7), we have

$$\frac{a_{\ell}}{a_{\ell+1}} \leqslant \frac{a_n}{a_{n+1}},\tag{2.13}$$

and, from Lemma 1, we have

$$\frac{a_{\ell}}{a_{\ell+1}} \cdot \frac{a_{\ell+1}}{(a_{\ell}!)^{1/\ell}} \leqslant \frac{a_n}{a_{n+1}} \cdot \frac{a_{n+1}}{(a_n!)^{1/n}}.$$
 (2.14)

The proof is complete.

Lemma 3 (König's inequality [2, p. 149]). Let $\{a_i\}_{i=1}^n$ and $\{b_i\}_{i=1}^n$ be decreasing nonnegative n-tuples such that

$$\prod_{i=1}^{k} b_i \leqslant \prod_{i=1}^{k} a_i, \quad 1 \leqslant k \leqslant n, \tag{2.15}$$

then, for r > 0, we have

$$\sum_{i=1}^{k} b_i^r \leqslant \sum_{i=1}^{k} a_i^r, \quad 1 \leqslant k \leqslant n.$$
 (2.16)

Remark 1. This is a well-known result due to König used to give a proof of Weyl's inequality (cf. Corollary 1.b.8 of [4, p. 24]).

By a close inspection of the original proof of König's inequality in [4], it follows that the equality in (2.16) holds if and only if $a_i = b_i$ for all $1 \le i \le n$.

3. Proofs of Theorem 1 and Corollary 1

Proof of Theorem 1. Inequality (1.9) holds for n = 1 by the power mean inequality and its case of equality. For $n \ge 2$, inequality (1.9) is equivalent to

$$\left(\frac{1}{n}\sum_{i=1}^{n}a_{i}^{r} / \frac{1}{n+1}\sum_{i=1}^{n+1}a_{i}^{r}\right)^{1/r} < \frac{\sqrt[n]{a_{n}!}}{\sqrt[n+1]{a_{n+1}!}},$$
(3.1)

which is equivalent to

$$\frac{1}{n} \sum_{i=1}^{n} \left(\frac{a_i}{\sqrt[n]{a_n!}} \right)^r < \frac{1}{n+1} \sum_{i=1}^{n+1} \left(\frac{a_i}{\sqrt[n+1]{a_{n+1}!}} \right)^r.$$
 (3.2)

Set

$$b_{jn+1} = b_{jn+2} = \dots = b_{jn+n} = \frac{a_{n+1-j}}{\sqrt[n+1]{a_{n+1}!}}, \quad 0 \le j \le n;$$
 (3.3)

$$c_{j(n+1)+1} = c_{j(n+1)+2} = \dots = c_{j(n+1)+(n+1)} = \frac{a_{n-j}}{\sqrt[n]{a_n!}}, \quad 0 \le j \le n-1.$$
 (3.4)

Direct calculation yields

$$\sum_{i=1}^{n(n+1)} b_i^r = \sum_{j=0}^n \sum_{k=1}^n b_{jn+k}^r$$

$$= n \sum_{j=0}^n \left(\frac{a_{n+1-j}}{\sqrt[n+1]{a_{n+1}!}} \right)^r$$

$$= n \sum_{i=1}^{n+1} \left(\frac{a_i}{\sqrt[n+1]{a_{n+1}!}} \right)^r$$
(3.5)

and

$$\sum_{i=1}^{n(n+1)} c_i^r = (n+1) \sum_{i=1}^n \left(\frac{a_i}{\sqrt[n]{a_n!}} \right)^r.$$
 (3.6)

Since $\{a_i\}_{i=1}^{\infty}$ is increasing, the sequences $\{b_i\}_{i=1}^{n(n+1)}$ and $\{c_i\}_{i=1}^{n(n+1)}$ are decreasing. Therefore, by Lemma 3, to obtain inequality (3.2), it is sufficient to prove inequality

$$b_m! \geqslant c_m! \tag{3.7}$$

for $1 \le m \le n(n+1)$.

It is easy to see that $b_{n(n+1)}! = c_{n(n+1)}! = 1$. Thus, inequality (3.7) is equivalent to

$$\prod_{i=m}^{n(n+1)} b_i \leqslant \prod_{i=m}^{n(n+1)} c_i \tag{3.8}$$

for $1 \le m \le n(n+1)$.

For $0 \le \ell \le n$ and $0 \le j \le n-1$, we have $1 \le (n-\ell)n + (n-j) = (n-\ell)(n+1) + (\ell-j) \le n(n+1)$. Then

$$\prod_{i=(n-\ell)n+(n-j)}^{n(n+1)} b_i = \frac{(a_{\ell+1})^{j+1} (a_{\ell}!)^n}{(a_{n+1}!)^{\frac{\ell n+j+1}{n+1}}};$$
(3.9)

$$\prod_{i=(n-\ell)(n+1)+(\ell-j)}^{n(n+1)} c_i = \frac{(a_\ell)^{n-\ell+j+2} (a_{\ell-1}!)^{n+1}}{(a_n!)^{\frac{(n+j+1)}{n}}}, \quad \ell > j;$$
(3.10)

$$\prod_{i=(n-\ell)(n+1)+(\ell-j)}^{n(n+1)} c_i = \prod_{i=(n-\ell-1)(n+1)+(n+1+\ell-j)}^{n(n+1)} c_i$$

$$= \frac{(a_{\ell+1})^{j-\ell+1} (a_{\ell}!)^{n+1}}{(a_n!)^{\frac{(n+j+1)}{n}}}, \quad \ell \leq j;$$
(3.11)

where $a_0 = 1$.

The last term in (3.11) is bigger than the right term in (3.10), so, without loss of generality, we can assume $j < \ell$. Therefore, from formulae (3.9) and (3.10), inequality (3.8) is reduced to

$$\frac{(a_{\ell+1})^{j+1}(a_{\ell}!)^{n}(a_{n+1}!)^{\frac{\ell-j-1}{n+1}}}{(a_{n+1}!)^{\ell}} \leq \frac{(a_{\ell})^{n-\ell+j+2}(a_{\ell-1}!)^{n+1}}{(a_{n}!)^{\ell}(a_{n}!)^{\frac{j+1}{n}}},$$
(3.12)

that is

$$\frac{\left(a_{\ell+1}\right)^{j+1}\left(a_{n+1}!\right)^{\frac{\ell-j-1}{n+1}}}{\left(a_{\ell}!\right)\left(a_{\ell}\right)^{j-\ell+1}} \leqslant \frac{\left(a_{n+1}\right)^{\ell}\left(a_{n}!\right)^{\frac{-\ell}{n}}}{\left(a_{n}!\right)^{\frac{j-\ell+1}{n}}},\tag{3.13}$$

this is further equivalent to

$$\frac{(a_{\ell+1})^{j+1}(a_{n+1}!)^{\frac{\ell-j-1}{n+1}}}{a_{\ell}!(a_{\ell})^{j-\ell+1}(a_{n}!)^{\frac{\ell-j-1}{n}}} \leqslant \frac{(a_{n+1})^{\ell}}{(a_{n}!)^{\frac{\ell}{n}}}.$$
(3.14)

Using inequality (2.12) and inequality (1.7) yields

$$\frac{(a_{n+1}!)^{\frac{1}{n+1}}}{(a_n!)^{\frac{1}{n}}} \leqslant \frac{a_{n+1}}{a_n} \leqslant \frac{a_{\ell+1}}{a_{\ell}} \tag{3.15}$$

for $\ell \leq n$. Thus, in order to prove (3.14), it suffices to prove the following inequality

$$\frac{(a_{\ell+1})^{j+1}}{(a_{\ell}!)(a_{\ell})^{j-\ell+1}} \left(\frac{a_{\ell+1}}{a_{\ell}}\right)^{\ell-j-1} \leqslant \frac{(a_{n+1})^{\ell}}{(a_{n}!)^{\frac{\ell}{n}}},\tag{3.16}$$

which is equivalent to

$$\frac{a_{\ell+1}}{(a_{\ell}!)^{\frac{1}{\ell}}} \leqslant \frac{a_{n+1}}{(a_n!)^{\frac{1}{n}}}.$$
(3.17)

This follows from inequality (2.1). Inequality (1.9) follows.

Note that, since the sequence $\{a_i\}_{i\in\mathbb{N}}$ is nonconstant, inequality (1.9) is strict. In fact, considering Remark 1, in our case we only need to verify $b_{n(n+1)} < c_{n(n+1)}$. It is easy to verify $b_{n(n+1)} < c_{n(n+1)}$ which is equivalent to $(a_n!)^{1/n} < (a_{n+1}!)^{1/(n+1)}$.

By the L'Hospital rule, an easy calculation produces

$$\lim_{r \to 0} \left(\frac{1}{n} \sum_{i=1}^{n} a_i^r / \frac{1}{n+m} \sum_{i=1}^{n+m} a_i^r \right)^{1/r} = \frac{\sqrt[n]{a_n!}}{\sqrt[n+m]{a_{n+m}!}},$$
 (3.18)

thus, the upper bound is the best possible. The proof is complete.

Proof of Corollary 1. It suffices to show the sequence $\{a_i\}_{i=1}^{\infty} = \{a(k+i)+b\}_{i=1}^{\infty}$ satisfies the inequalities (1.7) and (1.8) for any nonnegative integer k. It is easy to show

$$\frac{a(\ell+k+1)+b}{a(\ell+k)+b} \le \frac{a(\ell+k)+b}{a(\ell+k-1)+b}$$
 (3.19)

for any positive integer $\ell > 1$ and nonnegative integer k. Inequality (1.7) holds for the sequence $\{a_i\}_{i=1}^{\infty} = \{a(k+i) + b\}_{i=1}^{\infty}$.

Now consider the function

$$f(x) = x \ln\left(1 + \frac{1}{x+c}\right), \quad x > 0$$
 (3.20)

with $c \ge 0$ a constant. Then

$$f'(x) = \ln\left(1 + \frac{1}{x+c}\right) - \frac{x}{(x+c)(x+c+1)},\tag{3.21}$$

$$f''(x) = -\frac{(2c+1)x + 2c(c+1)}{(x+c)^2(x+c+1)^2} < 0.$$
 (3.22)

Thus f'(x) is decreasing. From $\lim_{x\to\infty} f'(x) = 0$, we deduce f'(x) > 0 and f(x) is increasing, and the function

$$\left(1 + \frac{1}{x + k + b/a}\right)^x \tag{3.23}$$

is increasing for x > 0. Hence

$$\left(\frac{a(\ell+k+1)+b}{a(\ell+k)+b}\right)^{\ell} \geqslant \left(\frac{a(\ell+k)+b}{a(\ell+k-1)+b}\right)^{\ell-1}$$
(3.24)

holds for any positive integer $\ell > 1$ and nonnegative integer k. Inequality (1.8) holds for the sequence $\{a_i\}_{i=1}^{\infty} = \{a(k+i)+b\}_{i=1}^{\infty}$.

Remark 2. The main result in [10], inequality (1.2) and (1.3) of this paper, can be further generalized to the following form, and we will leave the proof to the reader since it is similar to the one in [10].

Theorem 2. Let $n, m \in \mathbb{N}$, $\Lambda_n = \sum_{i=1}^n \lambda_i$, $\lambda_i > 0$ and $\{a_i\}_{i=1}^{\infty}$ be an increasing sequence of positive real numbers satisfying:

$$\frac{\Lambda_{k+2}a_{k+2} - \Lambda_{k+1}a_{k+1}}{\Lambda_{k+1}a_{k+1} - \Lambda_k a_k} \geqslant \frac{\lambda_{k+2}}{\lambda_{k+1}} \cdot \frac{a_{k+2}}{a_{k+1}}$$
(3.25)

for any given positive real number r and $k \in \mathbb{N}$, then the following inequality holds

$$\frac{a_n}{a_{n+m}} \leqslant \frac{\frac{1}{\Lambda_n} \sum_{i=1}^n \lambda_i a_i}{\frac{1}{\Lambda_{n+m}} \sum_{i=1}^{n+m} \lambda_i a_i}.$$
 (3.26)

The lower bound of (3.26) is the best possible.

Remark 3. Recently, some new inequalities for the ratios of the mean values of functions were established in [16].

Acknowledgements. The authors would like to express their many thanks to the anonymous referee for his/her thoughtful comments and suggestions.

References

- [1] Alzer H (1993) On an inequality of H. Minc and L. Sathre. J Math Anal Appl 179: 396-402
- [2] Bullen PS (1998) A Dictionary of Inequalities. Pitman Monographs and Surveys in Pure and Applied Mathematics 97. Harlow: Longman
- [3] Guo B-N,Qi F (2001) An algebraic inequality, II. RGMIA Res Rep Coll 4(1): 55-61; http://rgmia.vu.edu.au/v4n1.html
- [4] König H (1986) Eigenvalue Distribution of Compact Operators. Basel: Birkhäuser
- [5] Martins JS (1988) Arithmetic and geometric means, an application to Lorentz sequence spaces. Math Nachr 139: 281–288
- [6] Qi F (2001) An algebraic inequality. J Inequal Pure Appl Math 2(1), Art 13. Available online at http://jipam.vu.edu.au/v2n1/006_00.html. RGMIA Res Rep Coll 2(1): (1999), Art 8: 81–83; http://rgmia.vu.edu.au/v2n1. html
- [7] Qi F (2000) Generalizations of Alzer's and Kuang's inequality. Tamkang J Math 31(3): 223–227. RGMIA Res Rep Coll 2(6): (1999), Art 12: 891–895; http://rgmia.vu.edu.au/v2n6.html
- [8] Qi F (1999) Generalization of H. Alzer's Inequality. J Math Anal Appl 240(1): 294-297
- [9] Qi F (1999) Inequalities and monotonicity of sequences involving $\sqrt[n]{(n+k)!/k!}$. RGMIA Res Rep Coll **2**(5), Art 8: 685–692; http://rgmia.vu.edu.au/v2n5.html
- [10] Qi F, Debnath L (2000) On a new generalization of Alzer's inequality. Internat J Math Math Sci 23(12): 815–818
- [11] Qi F, Guo B-N (2003) An inequality between ratio of the extended logarithmic means and ratio of the exponential means. Taiwanese J Math 7(2): in press
- [12] Qi F, Guo B-N (2003) Inequalities and monotonicity for the ratio of gamma functions. Taiwanese J Math 7(2): in press
- [13] Qi F, Guo B-N (2000) Monotonicity of sequences involving convex function and sequence. RGMIA Res Rep Coll 3(2), Art 14: 321–329; http://rgmia.vu.edu.au/v3n2.html
- [14] Qi F, Guo B-N (2001) Some inequalities involving the geometric mean of natural numbers and the ratio of gamma functions. RGMIA Res Rep Coll 4(1), Art 6: 41–48; http://rgmia.vu.edu.au/ v4n1.html

- [15] Qi F, Luo Q-M (2000) Generalization of H. Minc and J. Sathre's inequality. Tamkang J Math 31(2): 145–148. RGMIA Res Rep Coll 2(6): (1999), Art 14: 909–912; http://rgmia.vu.edu.au/ v2n6.html
- [16] Towghi N, Qi F (2001) An inequality for the ratios of the arithmetic means of functions with a positive parameter. RGMIA Res Rep Coll 4(2), Art 15: 305–309; http://rgmia.vu.edu.au/ v4n2.html

Authors' addresses: T. H. Chan and P. Gao, 2074 East Hall, 525 East University Avenue, Department of Mathematics, University of Michigan, Ann Arbor, MI 48109, USA, e-mail: thchan@math.lsa.umich. edu; penggao@math.lsa.umich.edu; F. Qi, Department of Applied Mathematics and Informatics, Jiaozuo Institute of Technology, Jiaozuo City, Henan 454000, China, e-mail: qifeng@jzit.edu.cn